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KIGED) English

61. Which of the following sentence is in passive
voice?
(1) He was made to surrender his passport.
(2) They feed to lions in the zoo twice.
3) A jelly-fish stung her.

(4) We will not admit children under sixteen.

Explanation : (1) In the given options, 'He was
made to surrender his passport' is a passive voice
of simple past tense as the sentence shows that the
subject was forced by someone else or authority to
surrender his passport.

d
Look at the structure —Subject +was/were+verb(3"
form)+ other words.
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62. Tick the figure of speech in the following
sentence.

Cocks crow cock a doodle do.
(1) Oxymoron
(3) Metaphor

(2) Onomatopoeia
(4) Simile

Explanation : (2) In the given sentence, figure of
speech ' onomatopoeia' has been used at it is the
formation of a word from a sound associated with
what is named.

Note- When a cock calls in the morning, that's
called crowing (similar to the bird "crow," but inJ

this case it's a verb). In English, the sound of a
cock is written as cock-a-doodle-do.

66. Select the adverb of place.
(1) Almost (2) Agra
(3) Here (4) Japan

Explanation : (3) In the given options, 'here' ig the
appropriate choice as the advgrb_ of place which
is used when gesturing to indicate the place

intended. '
e.g.— I have played here most of the tlme'\J

67. Which of the following combination is foung
in the structure of English language? r
(1) Subject-object-verb (2) Verb-object-Subject
(3) Subject-verb-object (4) object-verb-subject

63. Point out the correctly spelt word.
(1) Hamorrage (2) Haemorrhage

(3) Hammerage (4) Hammarage

Explanation: (2) Inthe given options, 'haemorrhage'
is the correctly spelt word which means a large |
flow of blood from a damaged blood vessel (a tube "
carrying blood around the body). |

64. Point out the meaning of the following
proverb.

Every cloud has a silver lining.

(1) Clouds are never without a silver lining.

(2) There is a positive side to every unpleasant
situation.

(3) There is no hope in an unpleasant situation.

(4) Clouds always have white lines in them

Explanation : (2) The proverb 'every cloud has a
silver lining' means every difficult or sad situation
has a comforting or more hopeful aspect, even
though this may not be immediately visible.

65. Point out the word which can be substituted
for the given sentence.

The act of killing one's wife.
(1) Genocide (2) Ugxoricide
(3) Canicide (4) Avicide

Eplanation : (2) '"Uxoricide' means the killing
of one's wife while the meaning of other words
as given in the options are as follows: 'genocide'
means the intentional killing of all the people of a
nation, religion, or racial group. 'Coincide' means
the killing of a dog and 'avicide' is any substance
(normally, a chemical) which can be used to kill
birds.

Explanation : (3) The correct structure of a sentence
in English language is 'subject-verb-objecu

68. Point out the portion having a mistake

(1) The poors

(2) Are always helped
(3) By them
(4) Who are kind and generous

| Explanation : (1) Here, 'poor' will be used in place

of 'poor' because 'the poor' represents poor people
in a group.

69. Feminine of 'Hart' is
(1) Filly

(2) Sow »
(3) Roe |

(4) Goose

Explan?tion : (3) Hart is an adult male deer,|
espemall}{ a red deer while 'roe' is a small Eurasian
deer and it is the feminine of hart.

70. ' late, he is skilled a worker.' Fill in th‘{
blank. |
(1) But (2) Though
(3) Since (4) Unless

Explfigation : (2? Here, 'though' is the i ght usage
as'lt 1s a subordinating conjunction which mean 'in
spite of something',

e.g.— Though rich, he spends money very miserly:

71. "Call the first witnegg" said the judg®
Convert to it reported speech, ;

(1) The judge commanded them to call the ﬁrﬂﬂ
witness.

(2) The judge asked them to call witness first

(3 The judge told them to call fiyst the witnest.

(4) The judge asked them to invite the
witness.

|
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Explanation : (1) 'The judge commanded them
to call the first witness' is the correct reported
speech of the given direct speech as a judge always
commands or orders his subordinates.

72. Give one word substitution for the following.
A hater of women

(1) Misanthrope (2) Misogynist
(3) Mercenary (4) Philanthropist

Explanation : (2) 'Misogynist'is a person who hates

women or believes that men are much better than
women. .

Misanthrope : someone who dislikes and
avoids other people
Mercenary : Someone who is interested only

in the amount of money that
you can get from a situation

Philanthropist : a person who helps the poor,
especially by giving them
money

73. After reading a story on fish, if a teacher
asks children to answer "Imagine you are
fish in a pond. What do you see around you?"
This is an example of

(1) Multiple choice question
(2) Comprehension question
(3) Close type question

(4) Open ended question

Explanation : (2) The question asked after reading
a story is an example of 'comprehensive question'
because comprehension means understanding or
mentally grasping the meaning of something.

The answer to a comprehension question usually
is something you can point to in the paragraph or
passage and it aims at checking the understanding

Lof students.
74. 'Prediction' as a sub skill is associated with
(1) reading (2) drafting

(3) summarising (4) note-making

Explanation : (1) 'Prediction' is a sub skill of
reading as it helps readers to pred'lct or guess the
idea what is going to happen next in the story.

75. Which method is known as natural method?
(1) Direct method
(2) Grammar translation method
(8) Translation method
(4) Bilingual method

Explanation : (1) The direct method of teaching,q

which is sometimes called the natural method

and.is often (but not exclusively) used in teaching’
foreign languages, refrains from using the
learner's native language and uses only the target
language. It was established in England around
1900 and contrasts with the grammar-translation
method and bilingual method of teaching.

76. 'Operation Black Board' is for

(1) Primary schools
(2) Middle schools
(3) Secondary schools

(4) Convent schools

Explanation : (1) Operation Blackboard is a

centrally sponsored programme which was started
in 1987 immediately after the Rajiv Gandhi NPE
of 1986 was released to supply the bare minimum
crucial facilities to all primary schools in the
country.

77. Diphthongs are known as

(1) Pure vowels

(2) Semi vowels

(3) Vowels with weak sounds
(4) Vowels glides

Explanation : (4) Diphthong, literally "double

sound" or "double tone', also known as a gliding
vowel, is a combination of two adjacent vowel
sounds within the same syllable.

Directions (Q. Nos. 78-84) Read the given passage
and answer the question that follow by selecting
the most appropriate option.

Scientists are extremely concerned about the
changes taking place in our climate. The changes
are said to be alarmingly rapid and the result to
human activity whereas in the past it had bee.n
natural and much slower. The major problem is
that the planet appears to be warming up (global
warming). This is occuring at a rate unprecedented
in the last 10,000 years. The implications are very
serious. Rising temperatures could give rise to
extremely high increase in the igcidence of floods
and droughts having effect on agrlcultuzl'e.

It is thought that this unusual warming of hthz
earth has been caused by greeghouse gases such ez:e
carbon dioxide, being emitted' into thfe atmospsseS
by car engines and modern industrial procef thé
Such gases not only add to the po]lut:mnle(:l P
atmosphere, but trap the heat of theIsulr: 1
to the warming up of the planet. . wzuld try
suggested that industrialised countries
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to reduce the volume of greenhouse gas emissions
and plant more trees to create sinks to absorb

greenhouse gases.
78. The changes taking place in our climate
have become
(1) a matter of celebration for the scientists
(2) a matter of worry for the scientists
(3) something that does not have any serious
implication

(4) something to be whiled away by the scientists

Explanation : (3) The word 'slower’ is anadjunv;
as used in the passage because it is modify

: i in
'changes taking place in climate'. ¢

—

83. Greenhouse gases refer to
(1)
(2)
(3

emission of gases by the cars alone

emission of gases by the industries alone
trapping of heat of the sun by the eary
increasing temperature alone

4)

carbon dioxide being produced from any
source

Explanation : (2) Scientists are extremely concerned
about the changes taking place in our climate.

79. The antonym of the bold word 'increase' is
(1)

(3) smaller

increment (2) reduction

(4) rapid

Explanation : (2) 'Increase' means a rise in the size
amount, or degree of something while 'reduction’
means the action or fact of making something
smaller or less in amount, degree, or size. Hence,
they are antonyms. |

80. The climate changes taking place today are
different from earlier changes as

(1)
(2)

today they are slower and more natural
today they are much faster and caused by the

humans

(3) today they do not threaten the human

4)
Explanation : (2) The climate changes taking place
today are different from earlier changes as the

changes are said to be alarmingly rapid and the
result of human activity.

today men are affected by them easily

81. Increase in global temperature may result in

1)
(2
(3)
(4)

rains
destructions of crops
death of animals

a long period without rains

Explanation : (4) Increase in global temperatures
could give a rise to extremely high increase in the
incidence of floods and droughts (lack of rain) that

will affect agriculture.

82. The bold word 'slower' in the passage is
(1) Noun (2) Verb
(3) Adjective (4) Adverb

S~

Explanation : (4) Greenhouse gases refer to carbon
dioxide, being emitted into the atmosphere by car
engines and modern industrial processes which
increase the pollution and heat of the sun which is

warming up the planet.

84. The underline word 'sinks' in the passage
refers to
(1) absorption of greenhouse gases by industries

(2) reduction of greenhouse gas emissions
(3)

(4) the plantataion for absorbing harmful gases

industrialised countries

'Explanation : (4) The underlined word 'sinks' as
used in the passage refers to the plantation for
absorbing harmful gases.

85. Who plays the part of the fool in the '"The
Merchant of Venice'?

(1) Tubal
(3) Lorenzo

(2) Launcelot Gobbo
(4) Gratiano

Explanation : (2) Launcelot Gobbo is a clown and a
servant—first Shylock's and then Bassanio's. Like
all Shakespearean clown figures, Launcelot's job is
to fool around, make smart-alecky comments, and
bag on all the other characters in the play.

86. What form of poetry is 'La Belle Dame Sans

Merci?
(1) Lyric (2) Ballad
(3) Sonnet (4) Ode

Explanation : (2) Poetry 'La Belle Dame Sans
Merci' (The Beautiful Lady without Mercy) is a |
ballad prdouced by the English poet John Keats
in 1819.

87. "The Light of Asia" was divided into _____—

cantos.
(1) four (2) six
(3) seven (4) eight




Explanation : (4) 'The Light of Asia' subtitled
'The Great Renunciation', is a book by Sir Edwin
Arnold. The first edition of the book was published
in London in July 1879. It was divided into eight
cantos.

88. In which of Shakespeare's play are the
following lines.

"The quality of mercy is not strained. It
droppeth as the gentle rain from heaven.
(1) Romeo and Juliet

(2) Macbeth

(3) The Merchant of Venice

(4) A Midsummer Night's Dream

Explanation : (3) 'The quality of mercy...' is a quote
by Portia in William Shakespeare's 'The Merchant
of Venice'; it occurs during Act 4, Scene I, set in
Venetian Court of Justice. It is the speech in which
Portia begs Shylock for mercy.
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89. Which of the following is a short musical
poem expressing the poet's emotion?

(1) Lyric (2) Sonnet (3) Idyll (4) Ode

Explanation:(1)'Lyric'isashort poemthatexpresses

the personal thoughts and feelings of the person
who wrote it.

90. Tick the correct option to complete the
sentence. The prime minister help ____ .
(1) a press conference at airport
(2) a press conference at the airport
(3) press conference at the airport
(4) press conference at airport

Explanation : (2) Here, 'a press conference at the
airport' is the right choice as indefinite article 'a'
is used before press conference because it is not
predefined and definite article 'the' is used before
airport because it is a fixed situation.
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